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=42m @)

|

I

|

| |
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(iii) Ubgs apd 2wgb =X 0.8x8 @
= 3.2 m- —0)
(iv) @y b HLena gengenw Corgub Gy = 1.4 + 0.8 - @

=22s —@
(V) @rembd gLeney gewenu eILBU Usimenpssh &8 v asfer,

- )

v 8
v=64ms = @)

(vi) (o] Velocity/ms™
-

--------- _ G - ™ BT ﬂ-m

time/s

25

b i Ffiwmen
QJUI.DI'-III' . |

(b.)
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H—h=usin9>¢T-Egtz

|

o d 1x x( d )‘ %
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P .
| =N = W cos?6
| o 10x2? '
(iii)H = 2+ Btan 45° — ———— . @)
=2+8-064

=36m @)
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1
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(i) Momentum
Impulse

(ii) Definition
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@ (a) e_m (b) @

®.) :
(i) F=ma
9x10*—6x10*=6x 10° xa 0
3x10*=6x 10%a

a=5ms™2 @

(i) V=u+at .
=0+5 X 60 —0)
=300ms™! —@

(iii)9 X 10* = 12 X V 09
V=75x10>ms=L

(iv)Voe =Vos+ Vsig .
=175x103+300T @
=17200 m s @)

(v) efiourmst @epaeLw afiCurgefsn Heia) Gepaientupb.

(Vi) eovaiv
sulgeuLb @
oirs GOBHD
- Gpy0
(c)
(i) 600 x 1.8 x 10® = 500 X V + 100 x 2 x 10? —{02
500V = (10.8 — 2) % 10°
V=2880x2

= 1760 m s}
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( (i) Gore - @& =7 mv? =2x 600 x (1800)% = 300 x-324 X 10* @)
| =9.72 % 10°%] —0) '
| Qordd - @ =2 mv? =2x500x (1760)? +2x 100 x (2 x 10%)?
= 50(5 x (1760)2 + 4 x 105) -
= 7.744 x 10°® + 2 x 10°®

=974 % 10°] —@)

(i) Qouginleh  mapemors @yemuen séH, o lodd, Gaiu shP aeum  Bussiuni@ sbPurs
LOMNDDENL WD, @ _

(iv)FXt=Amv Fxt=Aamv
Fx2x10"3 =100 x (2-18) x 103—C? OR Fx2x10"3=500x (1300—1760) '
F=1x10'N —@) F=1x10’N ©)

| 3)(a) _
(i) o0 GsrePuise Buba @aCans CsreHse 6 BLb WLIPH Wop Came [YSWD. ——-@ |
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(ii) eflememusii Gousnev Ysfub e Buss s68 wiHpbd Yrdub g &8 wrmed. _ @
(i)W = Fx S
w
Power = s
__ Fx§
g
=Fx V
b.)
s
sin37°=—— Vave =
~ sin37° ~60. -
25 o
| == = 0.42 m/s———0))
: =25m .
| () V=u+at .
| 0.42=0+ax02
| =042 _ -2
‘ a=—>=21ms —0)
! No E‘; = 2.1cos 37°
| & =1.68ms™?
. a
i T a; = 2.1sin37°
. =126 ms™?
. ;
' a= ,}a,z + azz
=V1.68% + 1.267

=341l =21ms™?
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TF=ma

N - mg = maz . TFXt=mxAv g
No = mg + ma; OR F= 75:0.4;:““7- ‘@
—75x10+75x126—_‘. =945N
= 75(11.26) ' No=F+mg
= 844.5 N————(01) =945 + 750
=8445N
fo =75 X a . OR * . 75(0.42::;:: 37°-0) @

=75 x 1.68 | | =126 N———@)
=126 N

R= ’rn + Ni
= J126= + 844.52 ———(0)
V729056.25

= 853.85 N

(IJ.I)S (u-w ¢

('(0+042::1:!537""))(:'z .

. ((u +0.42 x 0.3))o ,

2
= 0.0336 m
=0.034m

(iv)K.E = mv?

= 2 x 75(0.42)?

= 6.615
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(ii) @svemev, eflememusit eflens t.v_suh@.

(iii) Poopangws Lwe—0) Gomelsd s1e0 ungo upPw sllensd BHoUuD Hep GODHS Lwesfient
Ploop smgw LvwelsE suEoHeTs @@ng,rls'b.——-.

= Nmgh
(W)P - ﬂ:B - 75x756>;10x15___ 14062.5 W

(v) Cusodhs eugy =FxV
| = 1.4 X 10* x 0.42 = 5880 W ——01)
(vi) Quuniy eugy =£’%ﬁx 100
= 28489.29 W '
= 28.5 kW——(0)
M.C.Q Answers
1. | (1) | 6.] (1) |11.| Open | 16.[ (3) | 21.| (4)
2.|105)|7.|@® |12 4 [17.| (5) |22.| (3)
3./]@| 8|13 @ [18|)]23.|@3)
4. (1| 9.|(4) |14 @ |19.] () | 24| (2
[ 5 ]()10.(3)|15] (2) [20.] (4) [25]()

Part] = 25 x 2 = 50 Marks

Part 1l A = 20 X 4 = 80 Marks
Part 1l B = 30 x 2 = 60 Marks
Total = 140 Marks
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